SeXil 6 FE A
RIREB1SEKEBEENSIORBIE it RETE & &t
IEES THE&E
L =R A
= T £z =
% B 2 4,510,000 M 2z
2 S = =
(REHER) ( M) ( M)
IEBH B & AfE (T 5B % B )
TH-BTEH
XI& STRHARR SM7EIA19H 5T RCHARR F =]
EAZUmE N=1&
i
(5E) £E
RETHIE

RETHE




kk AT HEH  kk PHNERE
BH - T T Al D % B | B W T % & T —
BET
BKeR e L (as B R )
1 =\ 2, 750, 000
FJ1% 27 (RIS AE2. Im3 X ¢ 1218 X H2358 ((EHFES) )
B REI R EEE TR ENAA v
FEST B ST
1 H
FRER
1 = 2, 750, 000
LR
1 = 2, 750, 000
AT
Bk e T
1 = 135, 000
£ 1% v 7 fT
1 H:
BERR G s S T
1 = 69, 300

BIE 1 S5 KBRIIE ) 2 7 Bk T




k ko AT

7

kko PNERZE

B - T G IAhAD % & | F [ T % & T —
BRI 7 > 7
1 =\
T T e P A
1 = 42, 475
A5 e T T
A N A4
0.5 H
RSB (U577 )
1 t
TR
1 = 2,996, 775
ToRR e (Ea D)
44, 000
TR R BT
44, 000
TTER
3, 040, 775
ERIETr
72, 000
B 1 BB KR ) 2 o 7 B L&



e okk PNERE

\
/

EH - LM - i LAY i & HA7 B Al 4 % 1
B PR 2
72, 000
A T A
3,112, 775
AR YLE- ¢
139, 000
T35
3, 251, 775
— R PR
848, 225
Tl
4, 100, 000
TH B 4 5
410, 000
TE:
4,510, 000

R 1 5Kk 2 7 g T




